











































































































ALGEBRA
Algebraic
expressions
simplifiedno

Order BEDMAS

Addingsubtracting

EH34stsxcx.am

Weonly11 thecoefficient
Distribution
Lmult ordivide all thetermsoftheliketermsNEVERchange

thevariables theirexponents in a bracket
remembernegatives

HAMLEAGA

iiteiiionistt
liketerms Ex

31 4 36 4 515 4 8512ab Y
IEFEI.innFsstoreacn3x 3x4 3xzI12x sE y8a tt 2ab
43x3x35xy5xyi3xy 2aE3ab

3512 240 186
729,33 59 2 3
Multiplication 2451Lmult coefficientstogether
variablesmult 8at6b
Laddexponentsofsamevariable whenyoucan'teasilydividebuthavetwodivisions orfractions

COMMONDENOMINATORE 3,5 31 E Ex 3112047 5649 7 common
denominator

53 5 3 5 3
Division Distribute

3112A4 5149 7
dividecoefficients 15 Combine
variablesdivided

liketermssubtracttheexponents 360 12 20 35
ofsamevariable 15 3 1
Ex 15 15 2 Say 56923

z 1 3 3 19 15
Ex 3290Ex 2














































































































AlgebraAlgebraic
vocabulary

equasions
OrderSAMDEB variable x

Exeter at Eat IEEE t
coefficient 3 3

I

nggggg.gg
Thenumberinfront 1

3 1
Solvingsteps

Simplifybothsides
Combineliketermsfrombothsides Anumberwithnovariable
movethembydoingoppositeoperation termUndooperationsonthevariable
CSAMDEB Groupsofstuff
Ex 13 4 1 4 1841 ex 3 2 5 833 y monomialEI 8416447244 Anexpressionwith one term

36atsationatizaty
unationate polynomialn n
163241 Anexpressionwith more thanit33 one term
33 degreeZoro.us d

the sumofallterm'sexponants
Stepsforwardproblems Ex 3 245 343 2 1 1 3 7

Letanunknownbex unknownyou Atermwithno variablehas a
degreeof 0Writeexpressionsintermsofx fortheother'S g

stabouts

Simplifying Solving

Writeanexpression withyourunknownswithyourunknowns
Simplifytheexpression

Writeanequation

Solvetheequation
candanswertheavestions



proportionalPsitatsrtiffettin manydifferentways
Equivalentfraction Rule Graph

straight line

g 4 9 X
passesthrough
theorigin O o

a coefficient
a b aid ofproportionality

150 2
a d b e a

equivalentrates to solve for a
equivalentratios missingvalue in

aproportional graph
youneed a perfect

Ratios G or a b la to b or decimal point on the line

offengonunketween
two numbers inthese

unit conversionsmaybe necessary
to get units tomatch

K H D MEEE MM L orgTunis To

time set 60set in min 60mi in an hu 3600sec in ar hr
24 hrs in a day

Rates
G or decimal a bl

comparison between two numbers in different
typesof units
km hr hr amount

In order to solve for missing information we can find

the UNIT RATE I a b so we get nom per I den














































































































Similar figures corresponding angles are congruent
correspondingsides are proportional

To solve fu missing sides we

b make a proportion using
corresponding sides
matching sidesis 7S

bigD
use the

Ig.IE srsmas 11.5
2 toucan

scale stale factor
on sides or
on perimeter

To solve for X
either 20 2 10

Solving for
missiÉsÉÉÉ

7 7 20 to

summer camps call for
a 30 4 ratio between campers

and counsellors If the camp has hired
15 campcounsellors

what is the maximum
number of campers that can

come

campers
734

X new campers

TS counsellors
counsellors

3041 112.5

Maximum of 112 campers since 113 would

be over ratio














































































































TypesofRepresentationReview

Lingfraighflatigships always
have the rule

y pattern X t initial value

y ax t b
y dependentvariable ly depends on x
x independentvariable

pattern rate atwhichthe
line is goingup or down InfighT

initial value whaty is when x 0
where the line starts from

the y axis

Remember proportional situationsCy ax are straight lines

we can Either.it niiinyEiErentways
From a scenario

A fishing park charges a 25 entrance fee

as well as 2 per fish caught
X dfish caught y per x 4 2 25

Y totalcost
pattern 2 keywords per every each I

initialvalue 25 keywords fee original
amount entrancecos

From a table of values

pattern 3118T'T'T'TIS 12 9 6

I I
ytitidn.ro

Rule y
3 18














































































































or when X does Not go up by 1 Option 2 forinitial value

Y 3x t b

initial value

we canplug apoint

Y 5 11 17 23 into solve for

I E E 76 5 311 tb
IF pattern 1 524 62 3 5 3 b

3 3

initialvalue gobackwards in the
tablefrom Y2 b

in xyougobackby
pattern

1.3 Rule 4 3 2

From a graph
Make a tableofvalues with

4 perfect points from thegraph20,40

no

payattention to the sealed the

joint've I FÉÉ
o s to is as s x initialFate is

pattern 18 1.5 Efta costperclass

Rule7 4 1.5 10














































































































Once we have the rule we can use it to solve

formissing information y 1 Sx 107

How muchwill it É for 40yolgadasses
4 1 5 10 Itwill cost 70
4 1.5640 HO

y 60 10 70
Howmanyassets can you take

for 56.50
456765

4 1.5 10
You can take 3156.50 15 11810 classes

4 0 1

31 x














































































































circle
GeometryReview

c Circumference I T radius r

Sector Asect

Idiameterd
Formulas

C 21T r If I know C I can find d or r

or

C Td
If I know d or r I can find c

If I know r I can find A

A Tra If I know A I can find r

If I know C 0 I can find MAB

Afittedsi o
If I know Aseat 0 I can findA

If Iknow Acirile 0 I can findAsect

If Iknow Acirch RAsect can find 0














































































































T t k side a
Regular Polygons

t t

n ofsides 6 mintinterior
angle La apothem a

Formulas

Sumofinteriorangles
5 180 n 2 if I know n I can find

I interior angle S or La

La 180 421
If I know S or La I can

find n

P n c If I know n c I can find P

If Iknow P n I can find C

If I know P
o I can find n

A nay
If I know n a e I can find A

If I know P a I can find A

or If I know A n a I can find a

A Pg If Iknow Ain c I can find a

If Iknow A C a I can find n

If I knowA a can find P














































































































A polygon with an interior angleof 1200 has a

circle with an area of 254 34 em fittingperfectly
inside it What is the area of thepolygon if
it's side length is 12cm

Circle Regular polygon

A 25434cm La 120 I can find n

L I can find r A
r apothem c 12 em

Findradiusapothem

A IT r2














































































































Extra Area Formulas

Shape Perimeter Area

Triangle
Esidetsidetside Aby

Rectangle P 2l 2W Alxw

Square P 4e A c

Parallelogram in P 2b 2side A bxh

Trapezoid i PBtbtsidetside A Btb

Rhombus

II P 4e ADI














































































































Percentages

4
What is III off

j
X 604g 9

It if whatnimter is33.757
33 X 337551001 225

Discount f Rebale Markdown
Less Sale

finale ygdiscounti
Youpaid 25 for a
shirt after a 201 discount

Originalprice what was theoriginalprice
oftheshirt

9 x 10881 31.25

r al














































































































Tax Markup Tip
after Isi tax What

was

Eight
taxi

Youpaid 3 fir a shirt
theoriginal priceof theshirt

It X 3QY 26.09

Tax Discount

original

qq.is IEgygggaEEIt
final

final Tiamat
amount

1111gal

withoutdiscount
original

I














































































































Dimitripays 27.60 for ashirt This price includes I fit
207rebateand a 1st tax

What is the regularprice of

theshirt
1 Amountpaidwithout tax

III
1011

2 60 Ho x 274 00 24 price
w o tax
butwith
thediscorn

2 Amountpaidwithout
discount

Éinal 100ffstount

got x 2481 30

The regular priceof the shirt is 30






























































































































































Probability
offavourableoutcomes
total ofoutcomes

1 i

2 IH
y

6 s it
y

z
s
y

y
s

Ploutcome P1ststepxp2ndstep etc
PCH57 12 tz

iPevent PlstoutcomeXP2ndoutcome etcmorethanoneoutcome
morethanone

Independent: One outcome does NOT depend on the previous one. They are two completely 
distinct experiments (coin, die) with replacement situations.



Dependent: Second outcome depends on the previous one without replacement.



When calculating probability of more than event, make a tree.

— — — — —

A game involves flipping a coin are once and then rolling a 6- sided die. You win the game if you flip 
heads and roll a number higher than 4. What is the probability of winning?





